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afe (x+p)* +8(x—y)* =
(3x + Ay)(3x% + Bxy + C)?)
g, @ (C-A4+B)F o= &
(A) 0 (B) 3
© 2 (D) 4

UF ATAHR W FH THYS T 264 a1
X & 3R 39 e 924 ¥ WX
21 39% =9 it S=E w1 e 9.
FIAT

(A) 3:7 B) 7:3

C) 6:7 D) 7:6

AABCH /4 =48 % 13afe #/B 3k £C

& fgureis | W fye €, 9 ZBIC 19
Ul

(A) 119° (B) 138°

(C) 114 (D) 102°

R 3R dig7 @ Fm Fuw: 20 3R 25
fai d = ud 1 = Tw 10 T 75
HH F & A% ST SHR 89 & SRV
%™ B3 5 ok vam 3 9@t 7w 3 feAf
H g 1 fg7n ) vam =t s @ wm

GH FA | e feq e ?
(A) 32fem (B) 28 fem

(C) 29 f& (D) 30 f&

If (x+y)+8(x-)y)>=

(3x + Ay)(3x> + Bxy + Cy?),
then the value of (C — A4 + B) will be :
(A) 0 (B) 3
(C) 2 (D) 4

The curved surface area of a cylindrical
pillar is 264 m? and its volume is
924 m3. Find the ratio of its diameter
and its height :

(A) 3:7 B) 7:3

S 6:7 (D) 7:6

InA ABC, ZA = 48°. If the bisectors of
4B and ZC meet at /, then the measure
of ZBIC will be :

(A) 119° (B) 138°

(©) 114° (D) 102°

Hari and Mohan can do a work in
20 and 25 days respectively. After
doing collectively 10 days of work,
they leave the work due to illness and
Shyam completes rest of the work in
3 days. How many days Shyam alone

can take to complete the whole work?
(A) 32days (B) 28 days
(C) 29days (D) 30 days
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(B) fa& 11 SR 111
(C) T FARE D
(D) fa&1ARIII

6. U H MaFE?

. fer o o 9@ &1 nfq § fa. /4.
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1. "Jaseasfemd 11 &4
TR A Sredt &

[1l. feer 91t wd srera 1 few § 1a i
THIR &1 it 3 few o/ &

(A) T FqHE TH

(B) fak 131l

(C) fad 111

(D) 1 3R [ W& |19 o fad 111

Direction for Question Nos. 5 and 6

Each of the questions given below consists
of a question followed by three statements.
You have to study the question and the
statements, and decide which of the
statements is/are necessary to answer the
question.

5. What is Amav’s present age?

I.  Five years ago, Arnav’s age was
double that of his son’s age at
that time

[I. Present ages of Amav and his
son are in the ratio of 11 : 6

[II. Five years hence, the ratio of
Amav’s age and his son’s age

will become 12 : 7
(A) I, IIand III
(B) Only Il and III
(C) Any two of the three
(D) Only I and III

6. What is the speed of the current?
I.  Speed of the boat is 8 km/hr in
still water
II. The boat runs at a speed of
11 km/hr downstream
III. The difference between the
speeds of the boat while
travelling in still waterand down-
stream is 3 km/hr
(A) Any one of the three
(B) OnlyIandIl
(C) Only 11
(D) Either I and Il together or only [11



w9 4. 7 TE 8 % forw frder
IE-91E T YT FIfSU 91 997 4. 7 3l 8
%Ww:

U THET. wiawn ¥ fafi= a=f (4, B,
C, D 3T E ) % fagrssar & ded o gl &1
-3y ( fetft-am)

BT & Hol §E&AT = 2100

7. E ¥ favegs ww 36 & §©& C H

favrmsa wra 2= @ feaa wfava sifus
2?2

(A) 25.9% (B) 35%

(C) 32% (D) 31.4%

8. A 3R B favza wa E #1 ¥@m C
3R D ¥ fovmga o< 26 9 x e €,
W Feifra Fa= €

(A) 65 3R 70
(B) 55 3R 60
(C) 60 3 65
(D) 50 3R 55

Direction for Question Nos. 7 and 8

Study the pie-chart and answer Question
Nos. 7 and 8 :

Break-up (degree-wise) of students in
terms of specialisation in different areas
(A, B, C, D and E) in an MBA program

Total number of students = 2100

7. The number of students specialising
in £ is what percent more than that of
students specialising in C?

(A) 25.9% (B) 35%
(C) 32% (D) 31.4%

8. The total number of students
specialising in 4 and B exceeds the
total number of students specialising
in C and D by x, which lies between :

A) 65and 70
B) 55 and 60
C) 60 and 65

(
(
(
(D) 50 and 55
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Study the following bar graph and answer
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10.

11.

12,

faemera C & o= 1 g 39 faumed

¥ g faenfefdi 1 faramn whirem 3 2
(A) 60% (B) 75%
(C) 62.5% (D) 67.5%

faemea B & @s®i ud faumed D =+
wefedl &1 3ruE F1 ® ?

(A) 3:4 (B) 4:3

(C) 13:11 Dy 12:13

A ABC ® D 3R E %9%: AB 3R AC
e & fag s veR € fF DE, BC &
AR 813 AD : DB =3:4%, &
gudd DECB 3R A ADE % &9%d &1
ST = T 2

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

& deciare 16 wfE § uw fafesa
3gd ¥ W == € 1 1741 91 =% 102
W & €, oo 35 oima 4 ok g
Sl ¥ 1 1741 Uit & 9e 35 3w @
2?2

(A) 27
(€C) 31

(B) 34
(D) 38

10.

11.

The number of boys in school C is
what percentage of the total number

of students in that school?

(A) 60% (B) 75%

(C) 62.5% (D) 67.5%

What is the ratio of number of boys
in school B to the number of girls in

school D?

(A) 3:4 (B) 4:3

(C) 13:11 (D) 12:13

In A ABC, D and E are the points on
sides AB and AC respectively such
that DE is parallel to BC. IfAD : DB =
3 : 4, then what is the ratio of area of
A ADE to that of the trapezium DECB?

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

A batsman has a certain average of
runs for 16 innings. In the 17th innings,
he makes a score of 102 runs, thereby
increasing his average by 4. What is

his average after the 17th innings?
(A) 27 (B) 34

(€) 31 (D) 38
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a1, i 44%
¥y fesmefam 65%
gieet e 2%
IS 68%
it 80%

13. ¥y feomfim =t asfedl @ gea
Frie & wrsfwdl & &4 frat #1 3w
g2
(A) 41 (B) 29

(C) 21 (D) 37

14, o W F AR St & aew
&1 gor H fora wfawm &9 € 2

(A) 49% (B) 58%

(C) 42% (D) 33.3%

SAhL
S
&),
+ Learning App

cnline learning 463

Direction for Question Nos. 13 and 14

Study the following pie-chart and table to
answer Question Nos. 13 and 14 :

Total number of students admitted in a

university in various fields = 5000

Distribution of the number of students

13.

14.

into various fields

Fields No. of Boys
MBA 56%

B. Pharma 44%
Fashion Designing 65%
Hotel Manégemcnt 72%

Economics 68%

Engineering 80%

What is the difference between number
of girls in Fashion Designing and
number of girls in Hotel Management?
(A) 41 (B) 29
(C) 21 (D) 37

By what percent number of girls in
B. Pharma is less than number of boys
in Engineering?

(A) 49% (B) 58%

(C) 42% (D) 33.3%

CIM -2 [8]
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15. feafa =1 dfgu iR Iye=y HAT T
fagedi o ¥ WIS FHlEE &1 A
Hiferg
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Fel T | 39 3 T T T 3H guTE
# Ta €1 fR of, arafas wgfa &
A e sty Fraw 8 o # 3R

&Y
=) The

(A) T@ e B 3

(B) Rl § 3&iTH ¢ <71

(C) wfafwmar =01 i sifuerl w
feareema

(D) Wrsds " 3R AvaE w1 6
a9 qfeEi = 3 = o

2

-
:
%

16. 39 favifta sm@afy § qof &1 S =it
% ufEs |5 e € | afEs-gtan
q3F & A YS! Fa grar & fF e
gl | U gedm ® i #1 aeie |
39 i@ & fAoarea o faone €1 &t
UG & | A9 F1 HEAT 91T ?
(A) FROUN F1 IecT@ Hd gC THAEY
qGH I | HET MY

(B) Teilg He&di # 9gd o HI HA
H! A1fey

(C) 3TT&dM & HRUI & SAr9-ggdre
. & Afey

(D) 3TEEANT % HoR W I §e=l A
FdEH! < AR

Genuine

4, o
g base ot ¥

15. Read the situation and choose the
best course of action from the options
provided :

Your superior has asked you to give
a presentation on a topic within two
days. You burn the midnight oil and
manage to finish it. However, during
actual presentation your superior is
disappointed and rebukes you for
the work done. What will be your
o reaction?

(A)
(B) Resign from the job

(C) React and shout at the superior
(D) Ask for feedback and assure that

Leave the place immediately

you will rectify the errors

16. Youare handling a time-bound project.
During the project review meeting,
you find that the project is likely to get
delayed due to lack of co-operation of
the team members. What should you
do?
(A) Ask for extension of time citing

reasons

(B) Ask for the replacement of team
members

(C) Look

cooperation

into reasons for non-
(D) Warn the team members for their

non-cooperation




17. f&=t (H), 37" (E) 3R d@&ha (S) &

18.

Hay o 960 =Afaadi & FH & A% &1
nﬁnntrﬁ%ﬁ:mw%

(o0 [0
ACAY A
s

WA aTEl & HIY S M2 ?

1
A) —
(A) 5

B 5

©) =

D) =

& é smepfn 3 faerd Forgen # 2

(A) 32
(B) 36
(C) 34
(D) 31
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17.

18.

A result of a survey of 960 persons
with respect to their knowledge of
Hindi (H), English (E) and Sanskrit (S)

is given below :

(o0 [
avhva
ok

What is the ratio of those who know
all the three languages to those who do
not know Sanskrit?

(A)

5|~ o=

(B)

(©)

bd | p—
4 q‘c

(D) >

How many triangles are there in the

given figure?

(A) 32
(B) 36
(C) 34
(D) 31



19.

20.

21.

22.

feafafEr i A s ged w21 ® ?

7 2 35
9’ 5 8 11
2 3
(A) = B =
5 8
7 5
Cy) A D) 2
()9 ()ll

gad Bt gem, T8 756896 # WS X

11 =1 7ot T foman s 9, 2t
(A) | (B) 2

(C) 3 (D) 5

U& WA H 595 % H 999 W 15% 1
THY 811 % 1 23% 1Y 9rE 37 % fag
3‘3‘3?‘11@"11

(A) 850%. H
(B) 921% H
(C) 795%. 4
(D) 861%. #

A G A % 45% W FAd T UH
et 1 w92 50 fige e @ 9 A=
T W g Al ¢ | T e W g §
oA 9Tl 9T §9Y 1 HifaT

(A) 2%

(B) 3 e

((f) 1Y 2

(D) 2% %R

19.

20.

21.

22.

Which one of the following is greatest?

Z’ z,éandi

9 5 8§ 11
&) 2 ®) 2

5 8

i ; 5
C) - D)
© 5 ® =

The smallest number, which should
be added to 756896 so as to obtain a
multiple of 11, will be :

(A) 1 (B) 2

© 3 (D) 5

When an article is sold for Rs. 595,

there is a loss of 15%. To gain 23%, it
should be sold for :

(A) Rs. 850
(B) Rs. 92l
(C) Rs.795
(D) Rs. 861

Walking at 45% of his usual speed,
a man reaches his destination 1 hour
50 minutes late. Find the usual time to

reach the destination :
(A) 2hr

(B) 3hr

(C) 1%hr

(D) 2% hr



23.

24.

25.

132, 156 3R 192 &1 #3¥W9. (TE.
H;UFE) x T ; 105, 150 R 210 =
TEY y T 3R 112, 196 AR 210 &
Y9 z¥ | H9H TSI UGG FAE?

(A) x
(B) y
) z

(D) |t sa &

1,000 &/AFm @t ug 4 3R
700 &/fF. &l uig B w1 faamER

2: 3% 3F9E ° U fag urg aE R
15 fereimum Tt ag o= | faraet @rma
amart ?

(A) 9,800 %.
(B) 8,200 %.

(C) 12,300 %.
(D) 12,800 %.

12 g, 11 wfeensti ok 8 a=3 9 1020
Hishere |l IH § | TAF I8, qfgen
AR T= 3:3:2 % UM ¥ Aidaie
qram | gEs o fewd | feRaHl dfeheie
T ?
(A) 324
(B) 432
(C) 540
(D) 450

23.

24.

25.

HCF of 132, 156 and 192 is x, HCF
of 105, 150 and 210 is y, and HCF of
112, 196 and 210 is z. Which 1s the
greatest HCF ?

(A) x

(B) y
(C) =z

(D) All are equal

An alloy is made by mixing metal
A costing Rs. 1,000/kg and metal
B costing Rs. 700/kg in the ratio
2 : 3. What is the cost of 15 kilograms
of this alloy?

(A) Rs. 9,800
(B) Rs. 8,200
(C) Rs. 12,300
(D) Rs. 12,800

1020 chocolates are to be divided
between 12 men, 11 women and 8
children. Each man, woman and child
will get chocolates in the ratio of
3 : 3 : 2. What will be the share of
men?

(A) 324

(B) 432

(C) 540

(D) 450



26.

27.

28.

29.

U SIAh U i oars ol 20% a1
fem s ¥ ol T e ® 10%
w21 femn S § | AEaER U b 89
gfg/adt &1 9 Ffa
(A) 12% 9f&
(B) 8% Ht
(C) 8%3f&
(D) 12% =

afz TF AEAER S F o, Sen
FRIAES ;43 F qua A ¥ R 3T
AEEE 12960 ¥4 WAL &, @ AFATHR
a9 FT darg s
(A) 20 9.7
(C) 30 J.4.

(B) 25
(D) 24 9.4

gfgad 15% W 2 a4 & fau o ffvsa
T A 3R Thgfe = & o9 F
AR 90 %. & | Uf¥r wra e

(A) 4,500%. (B) 4,000%.

(C) 3,500%. (D) 4200%.

Sa et a%g it Fma ° 35% Hi HAl
g3 1 3G fasht § 80% 1 gfg g3 13
T Wit | x% it 3fE &, & x w1 A
m:

(A) 13 (B) 17

©) 19 (D) 15

26.

27.

28.

29.

The length of a rectangular park is
increased by 20% and its breadth is
decreased by 10%. Find the increase/
decrease in area of the rectangular
park :

(A) Increased by 12%

(B) Decreased by 8%

(C) Increased by 8%

(D) Decreased by 12%

If the length, breadth and height of
a rectangular box are in the ratio of
5:4:3 and its volume is 12960 cubic
cm, then the length of the rectangular

box will be :
(A) 20cm (B) 25cm
(C) 30cm (D) 24 cm

The difference between simple and
compound interest on a certain sum of
money for 2 years at 15% per annum
is Rs. 90. Find the sum :

(A) Rs.4,500 (B) Rs. 4,000
(C) Rs.3,500 (D) Rs. 4,200

When the price of an item was reduced
by 35%, then its sale was increased by
80%. If there is an increase of x% in
the receipt of the revenue, then the
value of x will be :

(A) 13 (B) 17
(C) 19 (D) 15



30. B URY 4 3R B wHw: 40 3l 48 figge A

31.

32.

T <& W 9hd ¢ 3R T 9% iy ufd
fire 5 om @relt = g €1 T 91y
9139 e 3 W ¥ 30 fae ¥ W
HAT 8 1 3F Fl amar & .
(A) 450 o=
(B) 500 &=
(C) 400 &=
(D) 480 e

e =f 15,400 % § 5 7t 3l 9 et
TiEd &1 98 A B 10% & HdE
20% oY R AT a1 ¢ | AfE Feft w3k
FHdl F AT 2,080 F. FT AW B,
@ 7 FEE %1 ava g = R 2

(A) 4,900 %.

(B) 4,130%.

(C) 4,200%.

(D) 3,990%.

IR a+b+c=83Rab+bc+ca=1%,
@ Ja BT fFE be(b + c) + ca(c +a) +
ab(a + b) + 3abc =?

(A) 4

(B) 1

© 2

(D) 8

30.

31.

32.

Two pipes A and B can fill a tank in
40 and 48 minutes respectively, and
a waste pipe can empty 5 gallons per
minute. All the three pipes working
together can fill the tank in 30 minutes.
The capacity of the tank is :

(A) 450 gallons

(B) 500 gallons

(C) 400 gallons

(D) 480 gallons

A person buys 5 tables and 9 chairs for
Rs. 15,400. He sells the tables at 10%
profit and chairs at 20% profit. If his
total profit on selling all the tables and
chairs 1s Rs. 2,080, what i1s the cost
price of 7 chairs?

(A) Rs. 4,900

(B) Rs.4,130

(C) Rs. 4,200

(D) Rs. 3,990

Ifa+b+c=8and ab+ bc + ca =
1, then find bc(b + ¢) + ca(c + a) +
ab(a+ b) + 3abc =?

(A) 4

(B) 1

€ 2

(D) 8



33.

34.

3s.

frfafaa s@en ¥ wva faga () & we
W T g aTel FE&A H g
24, 25, 29, 56, 7

(A) 316

(B) 422

(C) 448

(D) 312

W1 HeR-wye fer T € o 9@ |

fordt wopR 9uH €, SafE & A ')
I ICTT A-FE Hl T4 HIGC :

(A) CXIR
(B) LNIQ
(C) EVGT
(D) HSKP

frefafaa g@en & v fagq (7) #
age & forg srar-we =1 g

ELV, JHY, ODB, TZE, ?
(A) XVH
(B) YWH
(C) YVH

(D) XWG

33.

34.

35.

Select the number that can replace
the question mark (?) in the following

series :
24, 25, 29, 56, ?

(A) 316

(B) 422

(C) 448

(D) 312

Four letter-clusters have been given,
out of which three are alike in some

manner, while one is different. Select
the odd letter-cluster :

(A) CXIR
(B) LNIJQ
(C) EVGT
(D) HSKP

Select the letter-cluster that can replace
the question mark (?) in the following

series :
ELV, JHY, ODB, TZE, ?
(A) XVH

(B) YWH
(C) YVH
(D) XWG



YA H. 36 U4 37 & o Fader

A § g F gg Frefafad v i w
m?ﬂﬁm:

e AP, O, RS, T,U,V 3R Wk 9ty
TFEH AN FF ASEIQ, VIS &
AT AT | W, QF a1 A TIF WA P&
TU T WA WRIR PR VE T da1 81

Q 3 Tu& g & fagda T 93 € |
36. SH AN AGUHAE ?
(A) U

(B) T
<y P

(D) 3T & =g Tl
37. frefafaa 4 @ S5F-01 $97 98 @l

27

(A) SR PTH W & faudia a8

(B) R, SHTE AN AAaUR

(C) TTUARSF A9 da1?

(D) P,RARUF &g aa1 8

Ingia's best

38. o fag-gw wos & farlld vos W
HH-T1 fag gm ?

B B a 0
y (Y] o |9 6 |9[ 5 (¢
(A) 3 (B) B
€ © D) ¢

Learning App@ *

Direction for Question Nos. 36 and 37

Read the information given below and then
answer the questions that follow :

Eight friends P, Q, R, S, T, U, V and W
are sitting in a circle facing the center.
O is sitting between V and S. W is third
to the left of O and second to the right
of P. R is sitting between P and V.
Q and T are not sitting opposite to each

other.

36. Who is third to the left of S ?
(A) U
(B) T
<© pP
(D) None of these

37. Which of the following statements is
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of §
(C) Tissitting between U and §
(D) P issitting between R and U

38. Which symbol will be on the face

opposite to the face with symbol o ?

B B o 0
vy (Y] o |2 6 |95 [¢
(A) & (B) B
€ © (D) ¢



9T H. 39 & 40 & fere Prder
ufifeerfs @1 sror Fifse qon fog o fawei

¥ 4 far S = T = T -
39, Y UF HGecdl § A, favmg &
Afer 3T9ehl SN 1d 991 T § 98 9

qauE | 21 g3 €, foad ey Hifta

TE @A & | 39 FFHAT?

(A) Hifia v ° =1 3 991 39 979
F U9 99 20

(B) 3197 Wesfddl ¥ Wedm o qen
T IR-wF W o F Iu
a9 A i =@ 3 fop o
F HUIfgd & § 97 T gaar
I Hergdl ol §

(C) = feu 91 & ¥wg & 39 39
a9 i Fa1 <1 fe 39+ ] gafua
STAVE 3YF I e 7

(D) 39+ aftss =l fafad €0 9 s &0
& 7q = | 3w F1E oY TET
i 4

40. 39 UH FREME & Hifdas & TF feq
FRE@M T R-TTA EH A AU SR
Farn 741 o < AeIgl W iR F TF TS
frE %13 & g0 o 9e 8 R
Y1 396 R ¥ GA 9% @I ¢ | |9t &
TdfeaRa & | 391 1 ] 9ifee ?
(A) wffeafa #1 dwrert 2q gfew =
EGIRCEIR 111

(B) weigll ¥ w1 =ifew f& 3 @m
Y- 379 T W [ S

(C) WIgX €9 & A1 &l el IqP
1y 39 fagg ¥ faar-faoyl &«
=ifeq

(D) A HSIgl Fi dobra Fafean 1
T AT BT

Direction for Question Nos. 39 and 40

Study the situation and choose the course of
action from the options provided :

39. You are the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What

will you do?
(A) Do limited job and send it to the
boss

(B) Take help from co-workers and
after learning the ropes dispose
the work and inform the senior
that you have taken the help of a
fellow worker to finish the job

(C) At the time of assignment, you
will inform the boss about not
having relevant experience

(D) Inform the senior in writing that
this work is not of any concern

of you

40. You own a factory. One day, there is
noise in the factory and you are told
that an iron rod has fallen on two
workers. They are badly injured and
are bleeding. Everybody is in panic.
What should you do?

(A) Call the police to control the
situation

(B) Tell the labourers to mind their
own business

(C) Call the union leader and discuss
the matter with him

(D) Get immediate medical attention
to the injured labourers




UyH H. 41-45 & fag A

FYFA H HAFYED FTHATT Hlh TG
M#W?ﬂm:

T Y Flow F ELT ¥ fEe ¥ fa

IACEAR &1 9979 F & ¥4 ffafiad €
() 1 37, 2017 = 3W 25 T @
W F &

(ii) =gFaq 80% = WY THT U &

(iif) Tt oft fawa 5 =Aam 70% & @9 1247
91

(iv) a9 ==t § 70% wifee fwan 2

(v) =afsrd @erdr o Fam 60% gifge
far &

3G INaR & gay §, 1 frafafad & stamEn

gt v I Far 21—

(@) ST (i), F&0 12 ® =Fww
60% it fwan &, afea 124 wen o
fasm fom &1 3@ amen At &
faumir gam =t e s ?

(b) ST (v), AfFITM TEHR ¥ 50%
gifge f&ar 8, 3g&1 amen wsfaveA
Hfafe 1 e 9T
frafafas & o § = 3uflear

1 oo fean 71 21 a9 SR feafaai

T S 9 H @ T IHFR F IR W

FEEd § § TF H1 g6 AT 80 3R 39

HHAR &I & F 93 IR Y fafgd s

BT | 3719 Wl 9 ¥ <t T SR % STeran

3R Fo 7€ 91 Thd € 1 3 9t A | 37T,

2017 & JER ¥ |
Ie YA G § f T gEA B @

AR 3791 S Fafga w1

Direction for Question Nos. 4145

Study the statements carefully and answer

the following questions :

Following are the conditions for selecting a

candidate for MBA in a top college :

The candidate must—

(7)  be not more than 25 years of age on
1 August, 2017

(7)) be a 10th pass with minimum 80%
marks

(7ii) be a 12th pass in any discipling with
minimum 70% marks

(#v) have secured minimum 70% in Group
Discussion

(v) have secured minimum 60% in
Personal Interview

In the case of candidate who fulfils all the

conditions except—

(a) At (iii) above, but has secured at least
60% in Class 12th but had Science
in Class 12th, his/her case is to be
referred to departmental head of MBA

(b) At (v) above, but has secured at least
50% 1in Personal Interview, his/her
case is to be referred to admission
committee

In each question below, details of one
candidate are provided. You have to take
one of the following courses of actions
based on the conditions given above and the
information provided in each question and
mark the number of that course of action as
your answer. You are not to assume anything
other than the information provided in each
question. All these cases are given to you as
on | August, 2017.

Now read the information provided
in each question and mark your answer
accordingly.



41.

42.

g 3 124 1 fagm d 85% 3R 104 A
90% wIfee fman | 359 =afeama TR
7 61% 3R a9e 991 § 74% wifae foran |
IHFHT A 24 30, 1994 1 T3 o1 ;

(A) TmA ® ALY F faurmege =
WS ST R

(B) IHHEAR 1 I AT 8
(C) 3wiieanr &I 7&f g I &

e A 1291 H fage fawa d 67% 3R
10aT ¥ 92% =wfga foan | 397 =afama
TR | 85% R 5y == ¥ 82%
Tifea foan | 3ae 511 12 faasr, 1995
W1 g3 o :

(A) IHHIEER H A1 A &
(B) ¥ favig &1 & fou smaia &

(C) Wt = wsfuvm =fafe & 9 9=
Eiei

(D) W™ w TAELT ¥ favrmeay ¥
9 99 9HT R

41.

Sushant scored 85% in 12th in Science
Stream and 90% in 10th class. He
scored 61% in Personal Interview and
74% in Group Discussion. He was
born on 24th April, 1994 :

(A) Case is to be referred to

departmental head of MBA
(B) Candidate is to be selected
(C) Candidate is not to be selected

(D) Data provided are inadequate to

take a decision

Dikshant scored 67% in 12th in
Science Stream and 92% in 10th
class. He scored 85% in Personal
Interview and 82% in  Group
Discussion. He was bormn on 12th

September, 1995 :
(A) Candidate is to be selected

(B) Data to take a

decision

inadequate

(C) Case is to be referred to admis-

sion committee

(D) Case i1s to be referred to

departmental head of MBA



43.

44.

45.

FOY F 124 ® e fawg ° 75% 3R

109t & 95% eifae faan | 3w =afamma

TR H 55% iR 99 == # 76%

wifas foran | 391 799 19 T, 1993

1 g3 o :

(A) TS Y THELT & faummeay &
g S AR

(B) IHHICER &I A1 A &

(C) Iwiear +1 T I 91 &

(D) ume & usfiym sfafz & g g
WA &

et 3 124 H 69% AR T|a H 87%
Tifae fon | o3 =afsama e o
62% R T == | 74% s
391 T4 13 feEw=r, 1992 =1 g3 o1

(A) & i 89 & fore srogia @

(B) wme # wefiaem wfafe & o S

Sl

Y@ A 1241 | arforsy fawg § 65% 3R

1091 ¥ 85% wifae fean | 397 =afema

EHR H 65% 3 99 =41 ° 80%

gifae foan | S 9199 29 37T, 1995

1 G 41 :

(A) IEEER H1 T4 9F &

(B) Wt i THELT & faurmay &
e WS S R

(C) w=Tet = wsfaem wfafe & g d=n
EIEiE

(D) Suficar ®i T&l g1 9 &

43.

44,

Rishabh scored 75% in 12th in Arts
Stream and 95% in 10th class. He
scored 55% in Personal Interview and

76% in Group Discussion. He was
born on 19th November, 1993 :

(A) Case is to be referred
departmental head of MBA

Candidate is to be selected

to

(B)
©)
(D)

Candidate is not to be selected

Caseistobereferredtoadmission
committee

Roshni scored 69% in 12th and 87%
in 10th class. She scored 62% in
Personal Interview and 74% in Group
Discussion. She was born on 13th
December, 1992 :

(A) Data inadequate to take a
_ decision
(B) Case is to be referred to

admission committee
Candidate is not to be selected
Candidate is to be selected

(©)
(D)

Shekhar scored 65% in 12th in
Commerce Stream and 85% in’ 10th
class. He scored 65% in Personal
Interview and 80% in  Group
Discussion. He was born on 29th
August, 1995 :

(A) Candidate is to be selected

(B) Case is to be referred
departmental head of MBA
Caseisto be referred toadmission
committee

Candidate is not to be selected

to

©

(D)

CIM -2

r201
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46.

47.

48.

= fer Mo SR faredi 4 4 39 @
faesheq @1 gfe St dig g § St S
e 21 g2 ¢ fo9 @ wed v 4 gEu
VI ISTEA € :

VM : TeAgH :: TWH: 2
(A) TR
(B) fm=
(C) ¥Fa
(D) 70

frdl U @™ F2 91 § ‘FEATURE’
H ‘UVZGFIV’ feran siman 8 1 36t &e
g1 § ‘CHARACTER’® &t =1 famn
ST ?

(A) XSZJZYGV]
(B) XSZIZXGVI

(C) DSZJZYGXI]

(D) XSZJZXHY]

94 feu U 9r faweni A A 3@ U
faweg =1 9T st @l den 9 e

34 9@ 21 g3 ¢ 99 @ e gemn
SEGHEC S CE o
7:336:: 1117
(A) 1210
(B) 990
.(C) 1320
(D) 1122

46.

47.

48.

Select one option out of the four
options given below which is related
to the third word in the same way as
the second word is related to the first
word :

Bhutan : Ngultrum : : Iran : ?
(A) Dinar
(B) Rial
(C) Shekel
(D) Euro

Inacertain codelanguage, ‘FEATURE’
is written as ‘UVZGFIV’. How will
‘CHARACTER’ be coded as in that
language?

(A) XSZJZYGVI]

(B) XSZIZXQVI

(C) DSZJZYGXIJ

(D) XSZJZXHY]J

Select one option out of the four
options given below which is related
to the third number in the same way
as the second number is related to the
first number :

1:336:: 1152
(A) 1210
(B) 990
(C) 1320

(D) 1122



9T H. 49 TE 50 & feg et

frfafad syl & sl @1 wryEs gfeu
7% 1A S fF FweE § 9 T e 98§

Safer 9 I 928 § 37 Ydid 2idt § | 98 99
wifeg fa feu o fewel o Q@ 19 @ifhs w0 @
mq’r%aﬁcm%

49, FHYA:

()
(i1)

[ft TR 95F B &
FO [EHR THI-T3 814 €

Frewd :

L.
I1.

[11.

(A)

(B)

(©)

(D)

FS THU-IT [EHR BId ©
FT IGh AR BId &

FO THU-IF ISH B §

geft frewd 1, 11 3 111 ol &
AR &

ferds feped 1 3i 11 Foi & 31ER
g

ferds el [ 3fR 111 %ol & 3THOR
g

fad frsrd 11 iR 11l wl &
ATEAR €

Direction for Question Nos. 49 and 50

Read the given statements and conclusions

carefully. Assuming that the information

given in the statements is true, even if it

appears to be at variance with commonly

known facts, decide which of the given

conclusions logically follow from the

statements :

49, Statements :

(1)
(id)

All prizes are medals

Some prizes are certificates

Conclusions :

L.
IL.

IT1.

(A)

(B)

©

(D)

Some certificates are prizes
Some medals are prizes

Some certificates are medals

All conclusions I, II and III

follow
Only conclusions I and II follow
Only conclusions I and I1I follow

Only conclusions II and III

follow



50. &HgA:

51.

(i)
(i)

IL.

I11.

(A)

(B)

(C)

(D)

Tt Fo I AR E
Hré Treft IR T e

nnnnn

ferdh foreed 11 o % 377ER 3

fak frepd [ 3R 11 o &
FTER €

fads frerd [ ol & sgEm
fok frepd 11 3k 11 =04
IR §

gfe fodl @® F2 991 § *ARMY’ &I
‘59065125 foran 91 &, &1 ‘NAVY' &
fore 39 w1 o =71 o s ?

(A)
(B)
(C)

(D)

705110130

906220125

705110125

701550130

ine learning 43
platferm oS

50.

S1.

Statements :

)
(if)

All dogs are lions

No elephant is a lion

Conclusions :

L.
I1.

ITL

(A)

(B)

©

(D)

No dog is an elephant
No lion is a dog

Some elephants are dogs

Only conclusion II follows

Only conclusions I and I11 follow

Only conclusion I follows

Only conclusions II and Il

follow

If in a certain code, ‘ARMY " is written
as ‘59065125’, how will ‘NAVY"’ be

written in that language?

(A)
(B)
©
(D)

705110130

906220125

705110125

701550130




W ¥, 52-56 % fre frdwr

TTHE TR TEH S SR TH W@ T

et 3R e F9E % d9 @R 99 | o
3R B T & o9 g9 € | i w A
3 & el & o9 W@ gu ¥ A siv A
Tl & o9 3 99 @ gC ¥ | fad u g
A 3R el T & A9 @A § |
T A g9 o 31 S A1 A= 7El T
¥ 1 g% 3R N Sl & oe 31 999 ¥ | §%g
TG A T F S @ g 7, AR 9w
T SR TR B |

52. T T1 &1 599 g9 A= B 2
(A) Tt
(B) dien
(C) =
(D) T & =i &

53, ToTEt S99 ¥ ufden § w99 @i

fafasn g2

Direction for Question Nos. 52-56

There are 8 boxes of different colours, viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above
other.

There are four boxes between Pink and Red
box. There are two boxes between Red and
Green box. Three boxes are kept between
Orange and Green box. Two boxes are kept
between Orange and Blue box. Only one
box is kept between Blue and Black box.
The Black box is not kept immediately
above or below the Orange box. There are
two boxes between White and Yellow box.
The White box is kept above Red box, but
not on the top.

52. Which coloured box is kept at the

bottom?

(A) Pink

(B) Yellow

(C) Red

(D) None of these

53. What is the position of Black box with

respect to Pink box?

(A) %= (A) Two places below
(B) & IR (B) Immediately above
(C) &= = (C) Immediately below
(D) %8 | % T (D) None of these
CIM -2 [24] ) Set-C



54.

5S.

56.

57.

9 iR A Sl & st fee w=
A

(A) 3

(B) 2

(C) 4

(D) 379 | =i &1

qad IR frg T w1 Foq1 £ 2

(A) Tt
(B) @
(C) =&t
(D) e

frafafaa 4 @ feg @1 «1 99 @@
TR F IFFWE?

(A) e
(B) ¥
(C) rem
(D) ¥ 8 HE T

IR fawedi 4 @ & 3= 19 9 3em )
39 31 fasheq &1 FG HITAC :

(A) et
(B) ==

‘(C) EIE|

(D) =I9MeEE

54.

5S.

56.

57.

How many boxes are kept between

Yellow and Orange box?
(A) 3

(B) 2

€ 4

(D) None of these

Which box is kept at the top?
(A) Pink

(B) Red

(C) Orange

(D) Yellow

Which of the following boxes is kept
immediately above Red box?

(A) Orange
(B) White
(C) Black
(D) None of these

Out of the four alternatives, one is
different from the other three. Find

that odd one out :
(A) Elephant
(B) Whale

(C) Hawk

(D) Bat



58.

59.

feu u wya 3 Frafafad aronsi
fa=m #ifer i freem Fifag fF F9-
|t uron ey F sfafifea ® ok aeER
391 W AT :

FYF AR Wik 7 foig famn @
fer wret ¥ gt yguul & W &l &4
F4 F fau e &t dim & oiew fem
Tl FR@E H Gl wWEmRd fHa
ST |

i

YU

[ 3 HRE@A # W & ERl
ARG F & a1 yfas ¥ e
¥ YguUl 1 W/ HH &l gHhal §

1. 3 Fr@A & fau 3wEm am
i i e F AT ITTH §

7 HREMA § ¥ 3 F AEEE
MEIF U Fs s el d
AT faan <1 gehar 2

Faa 1] safifea &

1.

(A)

Learning App

Fae 11 3R 111 siafifed €
Fad | 3R 11 sfafaféa &
78 | w1 e

(B)
(C)
(D)

4l 3R § A TF 98 97 Fl 27 Th-
[ B 54 5 %1 ) fad 9 R g

58.

@)

Indig's best

R online learning i
platfarm

59

Consider the given statement and the
following assumptions. Decide, which
of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has
decided that all the factories located
inside the city limit be shifted outside
to reduce the level of environmental
pollution in the city.

Assumptions :

I.  The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

[I. Enough usable land is available
outside the city limit for these
factories

[II. Many of these factories may

shift to some other smaller towns
to remain profitable
(A)
(B)
(©)
(D)

Only I1 is implicit
Only II and III are implicit
Only I and II are implicit

None of these

All the faces of a larger cube are
coloured red and then cut into 27

. i e identical smaller cubes. Find the
it B it = L : number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
A) 24 B) 8
(C) 12 (D) 9 (4) (B)
(C) 12 (D) 9
CIM -2 [26] ' Set-C



60. & vaa =1 g & | ifa Arem T €
vaa Afed & fom #1 Tt €1 fem g
H G ¥ wfa a6 ) wRw e
FI T FeA &1 9fa & | Afea w1 g
Y 7 Gay ¢ 2
(A) wig
(B) U=

€ =
(D) <R

WyH . 61 U 62 & fow
& ¢ A1 F AHYEF AT HITSC TF G
d. 61 T4 62 & IW 9 ;

A,B,C,D,E,F, G, H3R *fag¥1C,BA
27 M @HRI4,BR | frd. IWH R 3RA,
AR 2 fe g #1 G, HA | fi, wfvem
g¥saf® D, GR3frd Wil F GA
2 f& . SMHAR I, B3R CHF A | § saf®
E, H¥R D& A ¥ ¥

61. EdR/Faasigdame?

(A) 3f&=st. (B) 2fs
(C) sf&sdt. (D) =79 q +1E 7=

62. EdRFFuaRIigi#ne?
(A) 1fed. (B) 243 fF.

(C) 22 f& . (D) 79 & =+ =<

60. Ravi is the brother of Sweta. Jyoti
is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti is the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?

(A) Brother

(B) Grandson

(C) Son

(D) Son-in-law

Direction for Question Nos. 61 and 62

Study the information given below carefully

and answer Question Nos. 61 and 62 :

A,B,C, D, E F, G, Hand I are nine
points. C is 2 km east of B. 4 is 1 km north
of B and H is 2 km-south of 4. G is | km
west of H while D is 3 km east of G and F is
2 km north of G. / is situated in middle of B
and C while £ is in middle of A and D.

61. What is the distance between E and / ?
(A) 3 km

(C) S5km

(B) 2km
(D) None of these

62. What is the distance between E and F?

(A) 1km (B) 243 km
(C) 242 km (D) None of these

CiM -2

[27]
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63. YYAATE® WaAH A& ¥ 70. vt 3 G ww @ feat

(A) Fi (B) e Iqurerai ° | ¥ ?
(C) =asl (D) & (A) 5 (B) 7
<€) 9 (D) 37 | HE ot TE

64. 'fogua’' dyg ® - 1w arr—
(A) TEA (B) fag 39 {

(€) 3% (D) 37 (A) wferdt <t

65. -0 F-w T 2 (B) T

o (C) werst &
() wHrg - (B) By (D) T @ T
(C) gy (D) &8
L V'ag aes A B 9 § ‘a9 v
66. 378 ¥ yEaES 991 € : FE?
(A) HEa (B) =g (A) & (B) fewan
() (D) #r (C) fadram (D) 37° 8 =g off &
67. wAfgam ¥ g . e e s i
- ' Ve 1 GEN Y 1 Bl € 2
A) S (B) iy (A) & (B) @l
) e (D) & (©) d (D) el

68. ‘TuAt @ret’ § F1H-91 g9E § ? 74, %ﬂmmmﬁ%w

(A) &% 999 1 T FE T € ?

(B) sreadtvE |HE (A) &8 (B) dWM4

(C) FHHYRT Turg (C) T (D) T 4 =S ft &
(D) gEs FHH 75. ‘@' 1 wE faeim v @ gm?

“ v >y (A) FfR (B) ar=m@

69. :wm@&ﬁﬁ 1 HEl SUETE 9 © T (D) T & = o 7t
(A) o el (B) e wmef 76. frafafea A FA-TIK YE £ ?
€) ¥wmvmd (D) ¥ vra (A) Fasia  (B) freia

() fsila (D) fAfsia
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78.

79.

80.

81.

frafafea 4 @ fea a0 1 35w 'arg’
AEm R ?
(A) T
(C) w

(B) =
(D) W

‘TS g 7 iRt S WS AT
fere waaa & aren uE e &= g ?
(A) 3 d (B) wgqHA

(C) WeFaH (D) ¥eFEH

‘J' faufem =1 wam 59 < wral § g

82.

83.

'Ga T’ geTat & et 31 & g ?
(A) W& B
(C) fruwem

(B) ¥Ha gHI
(D) wruifad g

“Jaad e B fee e w1 as
22

(A) faurar=s
(C) AFET=Esh

(B) T=SHENE®
(D) HFaaras

& wifewa = sfaem’ faa a wam
aEF 9?2

(A) = TER Y&

(B) fuafds

(C) it frgeds

(D) el g aret

. 'IEd S /o9 e § -

ar= R ?

(A) wgarA

(B) &Har=A

(C) wEaT=

(D) T8 | Frg oft 7T

. Freferfas & @ #F-w1 v gfeein &2

(A) @@
(B) T
(C) 3

(D) ==
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87.

88.

89.

90.

91.

92

93,

Taq g '’ @l BHIEEl deid
FTUR :

(A) STIHQ
(C) &9su

(B) =9Eq
(D) rEEq

FAETE! ¥Ieg ‘Il T #
(A) qeuaresh

(B) freggar==+

(C) E~arash

(D) fv=garEs

o & T 1 FEA ©
(A) fagmo (B) @dam
(C) a=A (D) FWH

'SR F EaTa® 69 80
(A) @& (B) =&
(C) wwfram (D) e

Fiﬁﬂa?ﬁb_m%:

(A) ofam IR @@ E
(B) ag U W@ ®

(C) THHTAFTE &
(D) Tiar e W R

&t &9 S § |

=T wiet 5 € s
I9ga dfFdi o -9 SRR € 2
(A) JFEIE  (B) FAHIE
(C) goargu™ (D) ey
‘AR e ?
(A) &
(C) fasmo

(B) TdIm
(D) fwan

9.

9s.

96.

97.

98.

99.

100.

TTH H B v e ® 2
(A) 9= (B) 3m
(C) 29 (D) THe

T8 | 55 9HE F1 I SAE-# 2
(A) fowers (B) =1 HigR
(C) faerA (D) =Sa A
‘gt wfadmm e ®

(A) §"R (B) =

©) = (D) g=

frafafaa § wifdn v FH-a18 ?

(A) 0 (B) 4
(C) = (D) wife
‘gag’ BT e § W 2 E
(A) (B) 3

(C) == (D) &
frAfafaa ¥ 4 ST 299 U €
(A) &= (B) Hfad

(C) =™ (D) Hedt
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